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QID : 201 - In the following question, select the missing humber from the given series.

17,19, 22, 24, 27,?

TerAfated weat & U a1v fashedl & § oo 37 AT HIioIv|
17,19, 22, 24, 27,?

Options:

1)28

2)29

3)30

4) 31
Correct Answer: 29
Candidate Answer: [ NOT ANSWERED ]

QID : 202 - In the following question, select the missing number from the given series.

14, 18, 21, 25, 28, ?

Tt weaf # U 91¢ fashodl & & oo 37 o1d Hifoie|
14, 18, 21, 25, 28, ?

Options:

1)32

2)31

3)30

4) 35
Correct Answer: 32
Candidate Answer: 31

QID : 203 - In the following question, select the missing number from the given series.

14, 21, 35, 49, 84, ?
TF=ATe e weat # U 91¢ fashoul & & oo 3ish A1 HIfoe|

14, 21, 35, 49, 84, ?

Options:

1) 163

2) 143

3) 158

4) 133

Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED ]

QID : 204 - In the following question, select the missing number from the given series.

2, 3,10, 39, 2, 1175
TF=ATe e weat # U ¢ fashoul & & oo 3ish A1d Hifoie|

2,3,10,39,?,1175

Options:

1) 196

2) 195

3) 194

4) 193

Correct Answer: 196

Candidate Answer: [ NOT ANSWERED ]
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QID : 205 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
A,D,G I M,?
Tk s fr arm &, To# & Ueh Ue oo ¢| foT 1w fashodl & & ag |el fashed giaw, S 3gsha & U |

A,D,G I M,?
Options:
1)Q

2)P

3)S

4)U

Correct Answer: P

Candidate Answer: P

QID : 206 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
LMO, PQS, TUW, ?

T 3efshd & aram &, Ted & Uah Ue ofed B faT 1w Rl & & ag |e fashew giAw, S 3gshat g |

LMO, PQS, TUw, ?
Options:

1) XYA

2) BYC

3) BXC

4) XYD
Correct Answer: XYA
Candidate Answer: [ NOT ANSWERED ]

QID : 207 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
TRS, YWX, DBC, ?
Teh 31eTeha T a1 B, Tored & weh ue ofed &1 QU aTv fashout H & @ HEY faehod YA, it 3egsha Sl O |

TRS, YWX, DBC, ?

Options:
1) FIH

2) GHI
3) FGH

4) IGH
Correct Answer: IGH
Candidate Answer: IGH

QID : 208 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Mother
2. Master
3. Mango
4. Malta
5. Moise

e Areal ST Aeeehier # 31T aTel A & AR ford|

1. Mother
2. Master
3. Mango
4. Malta
5. Moise

Options:
1) 42315
2) 43251
3) 43215

4) 42351
Correct Answer: 43251
Candidate Answer: 43215
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QID : 209 - Which word will appear second when arranged in order of dictionary?

QTEEhIT o AN AU el IX et AT A GEY TUTeT G ITTI?
Options:

1) Twister

2) Tertiary

3) Twings

4) Twine
Correct Answer: Twine
Candidate Answer: [ NOT ANSWERED ]

QID : 210 - Which word will appear third when arranged in order of dictionary?

ASEHIL & TR AT Fal TR lel HT Aeg; dAY TATA 9T ITT?
Options:

1) Niggle

2) Nested

3) Night

4) Nippy
Correct Answer: Night
Candidate Answer: Night

QID : 211 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Linger
2. Large
3. Lamp
4. Lost
5. Long

TeeAaTEe Areal ST Qreeehier # 3T aTel A & AR ford|

1. Linger
2, Large
3. Lamp
4. Lost
5. Long

Options:
1) 32154

2) 32145
3) 31254

4) 31245
Correct Answer: 32154
Candidate Answer: [ NOT ANSWERED ]

QID : 212 - In the following question, select the odd number pair from the given alternatives.

TerAfafed weat & fou 1w fasheut & & fave dear g7a I giv|
Options:

1) 12 -156

2)6-42

3)8-72

4) 10-90

Correct Answer: 10 — 90

Candidate Answer: 12 -156

QID : 213 - In the following question, select the odd number pair from the given alternatives.

TerAfated weat # feu 1w fashet # & favww @&z Z7a I giv|
Options:

1) 14 - 194

2) 13- 167

3) 12- 146

4)11-119
Correct Answer: 12 — 146
Candidate Answer: 11 - 119
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QID : 214 - In the following question, select the odd letters from the given alternatives.

TF=ATe e weat # U 91C fashout & & fawer 37&RT I giav|

Options:
1) FHIL

2) RTVX
3) BDFH

4) NOQT
Correct Answer: NOQT
Candidate Answer: FHIL

QID : 215 - In the following question, select the odd letters from the given alternatives.

TF=ATe e weat # U 910 fashout & & fawer 37&RT I giav|

Options:
1) DEG]

2) LMOR
3) RSUX

4) FGIM
Correct Answer: FGIM
Candidate Answer: FGIM

QID : 216 - In the following question, select the odd word pair from the given alternatives.

ForfeIfre weet 3 fow aTe el 31 < oo ereg g7 @1 9o
Options:

1) Cloud : Sky

dIcel @ 3ThIR

2) Organ : Body

3T MR

3) House : Rooms

W F

4) Water : River

Eci

Correct Answer: House : Rooms
X Y

Candidate Answer: Water : River

STef @ AT
QID : 217 - In the following question, select the odd word pair from the given alternatives.

AT weat # 4T 10 fashoul & & fawe ereg Z7a &1 gAw|
Options:

1) Curd — Milk

e - gy

2) Rice — Grain

ITdel — ool

3) Paper — Pulp

TS — I

4) Sugar — Sugarcane

Al — eaAT

Correct Answer: Rice — Grain
ITdel — Hool

Candidate Answer: Rice — Grain
ITdel — Hool

QID : 218 - In the following question, select the odd word pair from the given alternatives.

TF=ATe e weat # U 1T fashout & & fawe Asg oA 1 FiAT|
Options:

1) Ice — Cold

T — &1

2) Fire— Heat

3T — v

3) Bulb — Light

oo — AT

4) Sleep — Wake

HIAT — SRTAT
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Correct Answer: Sleep — Wake

AT — SETAT

Candidate Answer: Sleep — Wake

HIeAT — SRTT

QID : 219 - In the following question, select the related number from the given alternatives.
10:101::12:?

Rrafaf@d weat # R arw faswedt # & Gaftid dear 1 gfaw
10:101::12:?

Options:

1) 145

2) 144

3) 142

4) 141
Correct Answer: 145
Candidate Answer: 145

QID : 220 - In the following question, select the related number from the given alternatives.
3476:20::4235:7?

Frafafld wea # Ry aw faswedt # & @aftd dear & 9w

3476:20::4235:7?

Options:

1) 14

2) 13

3) 12

4) 16
Correct Answer: 14
Candidate Answer: [ NOT ANSWERED ]

QID : 221 - In the following question, select the related number from the given alternatives.
2237:84::3642:7?

TerAfated woat & fev 1w fashedt # & Heftrd wear &1 giav|

2237:84::3642:7?

Options:

1) 144

2) 142

3) 147

4) 137
Correct Answer: 144
Candidate Answer: [ NOT ANSWERED ]

QID : 222 - In the following question, select the related letters from the given alternatives.
ROOM : QNNL: : RENT: ?

et weat # fou a1v fashout 7 & Heftrd 3R 1 giav|

ROOM : QNNL: : RENT: ?

Options:

1) QDMS

2) QEMS

3) QDNS

4) QDMT
Correct Answer: QDMS
Candidate Answer: [ NOT ANSWERED ]
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QID : 223 - In the following question, select the related letters from the given alternatives.

PHONE : QJRR] : : HELLO : ?
Frafafld wea 7 Ry o fRedt # @ et 3Rt # 9w

PHONE : QJRRJ] : : HELLO : ?
Options:
1) IGOPT
2) IGOPS
3) IGOQT

4) IGOQS
Correct Answer: IGOPT
Candidate Answer: IGOQT

QID : 224 - In the following question, select the related letters from the given alternatives.

PHYSICS : KSBHRXH : : CHEMISTRY : ?
AT weat # 4T 910 fashoul & & HefId 3R &1 giav|

PHYSICS : KSBHRXH : : CHEMISTRY : ?

Options:
1) XSVNRHGIB

2) XSVNSHGIB
3) XSUNRIGIB

4) XSVMSITRC
Correct Answer: XSVNRHGIB
Candidate Answer: XSVNSHGIB

QID : 225 - In the following question, select the related word from the given alternatives.
Knife: Cut::Pen:?

TerAfaTed weat & v 1w fashedl & Heftrd oree; 1 giv|

T : FIEaAT & : FeAdA & ?
Options:

1) Write

forger

2) Wood

EEEl

3) Join

Sirger

4) Blue

Arem

Correct Answer: Write

forgar

Candidate Answer: Write

forgar

QID : 226 - In the following question, select the related word from the given alternatives.

Court : Justice : : College : ?

Frafafld weat & Ry arw fashedl # & @aftid ereq 1 v

FATY : 791 : : AgIfagATed : ?
Options:

1) Education

et

2) Council

afteg

3) Chorus

IMIhgel

4) Results

qROTH

Correct Answer: Education

e
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Candidate Answer: Education
fRvar

QID : 227 - In the following question, select the related word from the given alternatives.
Hen : Coops : : Rabbit : ?
PrAfaed weat & v 1w fashedl & & Heiftid eree; 1 v

3t : Risrst: : wwaer: ?
Options:

1) Den

BT

2) Shed

B

3) Cobweb

SiTell

4) Burrows

Al

Correct Answer: Burrows
i,

Candidate Answer: Shed
BT

QID:228-1f11@13@7=13711and4 @ 14 @ 6 = 1464, then12@6 @ 13 =7

IfT11@13 @7 =1371134 @14 @ 6 = 1464, AT12@6 @ 13 =?

Options:
1) 63121
2) 61213
3) 61312
4) 13126

Correct Answer: 61312
Candidate Answer: 61213

QID : 229 - What will come in place of question mark (?) in the given equation?
9?211?26?23?9 =117
T T FHteRoT I g [RIesT (?) & TUTH IR T 3TTaT?

9?211?26?3?29=117
Options:

1)x, —, +and +

X, =, + dAT +

2) +,—, +and x

+,—, + dATX

3) x, +, + and x

X, +, + dgT X

4)x, +, +and -

X, +, +dur—

Correct Answer: x, +, + and x
X, +, + dAT X

Candidate Answer: [ NOT ANSWERED ]

QID : 230 - In the following question, select the word which cannot be formed using the letters of the given word.
SUBSTITUTION

TreAt e fashodt 3 A g5 oreg AT ST 8T 1T 2reg; & 3R T FHNT Ik LT S=A1aT S Hehell|

SUBSTITUTION

Options:

1) BITS

2) BOND

3) BINS

4) BUST
Correct Answer: BOND
Candidate Answer: BOND
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QID : 231 - In the following question, select the word which cannot be formed using the letters of the given word.

CELEBRATIONS
Tt fashoul & & dg oreg YA ST T 7T 2reg & 3R T TAT 7eh LT =TT ST Hehell|

CELEBRATIONS
Options:

1) CREATE

2) COINS

3) SONG

4) RATES

Correct Answer: SONG
Candidate Answer: SONG

QID : 232 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All cups are plates.
IL. All plates are red.

Conclusions:

L. All cups are red.
II. All plates are cups.
III. All red are plates.

A fT 91T 99 & $© YA 3R IeTh d1e 37 HYAT W ;MR Fo s v 310 &, grefifeh 37 A= A q2T § ewiar &7 Fenchh &1 Tl forsend 08 31k e
Fuifa a5 & e v wiq & e, e e =&t & 3R ) gfaawed &

HYe:

L. T8 %9 ol §1
I1. @i T el €1

sy

L. T8 T el §
I1. FefY wole &9 §1
I11. FefY oret wore §1
Options:

1) Only I

Hhael I

2) Only II

Sl 11

3) Only III

e 111

4) All conclusions follow.

i oy e §

Correct Answer: Only I
Fael I

Candidate Answer: All conclusions follow.

it forsay FEr
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QID : 233 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. Some sky are blue.
II. Some blue are soft.

Conclusions:

I. Some sky are soft.
II. Some soft are sky.

e feT 91T 9T & $© YA 3R 3eTeh d1e 37 HYeAT R ;MR Fov fevsehs U 310 &, grefifen 37 A= A q2T § Fewiar &7 Fench &1 Tl forsend 03 31k e
Fuifa a5 e v wiq & e, e 71w @t & 3R ) gfFawed &

HYe:

L. T& 3THA el E
I1. Fo oo 7 &1

sy

L. T AT 7R7A

I1. Fo 7 3T §

Options:

1) Only I

Fal I

2) Only II

S 11

3) Neither I nor II

FaAr AL

4) Both I and II

I 2 11 gt

Correct Answer: Neither I nor II
FATITEII

Candidate Answer: Both I and II
I o 11 =t

QID : 234 - In a certain code language, ‘sky’ means ‘red’, ‘red’ means ‘tomato’, ‘tomato’ means ‘milk’, *‘milk’ means ‘soil’ and ‘soil’ means ‘white’. In the
given code language where does a plant grow?

T RAfIST s aroT 3, “JrEnRr &7 31 AT, AT’ F 3Y TATY, TATE T 37 QU QU T 31 HEr T e & 3 W §| &Y TS s AT H, oty fhae
3T E?

Options:

1) soil

7@

2) white

|,

3) red

EIc)

4) tomato

CTHIX

Correct Answer: white

e

Candidate Answer: white

e

QID : 235 - In a certain code language, “"GIANT” is written as “96432" and “FRAIL" is written as “58467". How is "GRAIN" written in that code language?

s faflIse #s s 7, “"GIANT” FY “96432” 2T “FRAIL” FI “58467" for@r ST &1 59 s 81197 & “"GRAIN” ' fher yshR forr swam?

Options:
1) 93452

2) 95648
3) 98634

4) 98463
Correct Answer: 98463
Candidate Answer: 98463
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QID : 236 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

fafoieg vy # Gy o fadeur & @ uw R
(?) & TUET W A A FEA FH gET

2 7 9
/81" /100\ F AN
3’ 4 2 12 .
Options:
1) 121
2) 100
3) 64
4) 144

Correct Answer: 144
Candidate Answer: 144

QID: 237 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Teaefg vy A for o aeeul & @ uy BE
(?) & TUE W H aE TEA B AT

8]
N
w

~J

38

5 |3 [ 7
6 1 3 | 31
Options:
1)22
2) 24
3)28
4)32

Correct Answer: 22
Candidate Answer: 28

QID: 238 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Teafeia uvy & r 7w foweul & @ uw =g
(?) & TUE WX HE dE TS A gET

2 | 4 3 | 4 4 |9
5 |13 6 | 18 3 | 2

http://thepracticetest.in/cs_steno_17/response_questions.php?t_id=MTMwOTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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Options:
1)32

2) 35
3)21

4) 39
Correct Answer: 39
Candidate Answer: 39

QID: 239 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

T vy & Gr or foweul & @ uy =g
(?) & TUE X A den &I F gAT|

3 6 9 |18
4 9 7 ?
5| 4 8 |17

Options:

1) 18

2) 14

3)20

4) 22

Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

QID : 240 - Present ages of Richa and her husband are in ratio 3 : 4. Five years from now, ages of her husband and her son will be in ratio 3 : 1. If the present
of Richa is 21 years, then what will be her son’s present age (in years)?

age

e T 38e ufd & aciHT 1Y 1 AT 3 1 4 §1 31T @ dier a¥ G 36K Ufel U7 G 1 3H1G 7 a1 3 : 1 gram| afe R & actaAret 3y 21 a9 g, af 38 g

&1 aciHr 3G (avt &) F2r g
Options:

1) 16

2)11

3)6

4)5
Correct Answer: 6
Candidate Answer: 6

QID : 241 - Kamal's position from the left end in a row of boys is 315t and Karan’s position from the right end is 29th, After interchanging their position, Kamal's
position becomes 431 from the left end. How many boys are there in the row?

TSHI DT Tk UTFd H, el T TATH I R & 31-aT1 § TUT P I TATH g1 31 & 29-aT §1 3197 TATAT T TWER TG el & 916, HHFl T TATT a1 B T 43-af &1
ST &1 GfeFa 7 frder g &2

Options:

1) 68

2)71

3)72

4) 70

Correct Answer: 71

Candidate Answer: 70

QID : 242 - Six towels are kept one on top of the other. Red coloured is just above white coloured. The yellow coloured is between blue coloured and green
coloured. Pink coloured is between red coloured and blue coloured. Which towel is between the pink coloured and yellow coloured towels?

g cllfordl Y Teh & FUX Teh TW@T AT § | ATel LT T cltfora, @t T & alford & ek 3T §1 ey 31 a1 difora, sfher aam g o1 & alford & ae &) el a1 ot
atferar, arer 1 & diferdy aam wirer 7 & alford & aeg §) Jere qur diel &1 & alferd & aeg sla & o &1 difoar 82

http://thepracticetest.in/cs_steno_17/response_questions.php?t_id=MTMwOTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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Options:

1) Red

BIGH

2) Green

&I

3) Pink

pEICH

4) Blue

Arer

Correct Answer: Blue

aArer

Candidate Answer: Blue

aArem

QID : 243 - Present age of a A is 2 times that of B. After 5 years the B’s age will be 4 times of C’s present age. If C celebrated his seventh birthday 4 years ago,
then what will be the present age (in years) of A?

A S ITHT 3T B T AT §1 5 T a1 B Y 1Y, C Y aFHAT g 7 4 A1 g1ef| I C o 39l @revall STeafet 4 a¥ gget HATQT or, o A B adae 3y (st #) Far
g

Options:
1)73

2) 64
3)78

4) 59
Correct Answer: 78
Candidate Answer: [ NOT ANSWERED ]

QID: 244 -

Which answer figure will complete the pattern in the
question figure?

Bl W I NFA TH AHA & TawT H g

HLN?
/‘_; T ]?
S/
Options:
1)
.\
2)

_/

J

4)

N

http://thepracticetest.in/cs_steno_17/response_questions.php?t_id=MTMwOTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 12/52
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Correct Answer:

&)

Candidate Answer:

S

QID : 245 -

From the given answer figures, select the one in
which the question figure is hidden/fembedded.

&r o IR A F ¥ 3@ IR HglE & gEw
orm & oy amgla BT B

rz

Options:
1)

2)

3)

4)

M P ([ 2] ][4

Correct Answer:

Xt

Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_steno_17/response_questions.php?t_id=MTMwOTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 13/52
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QID : 246 -
A piece of paper is folded and cut as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opehed?

@ F wH Hpladl # @ FGER FES @
ATZHT T TUT Wioll & aE Ig hd 3R AP
st fears game

Options:
1)

N
-

& D) |@r) (@

w
=

2

Correct Answer:

Candidate Answer:

http://thepracticetest.in/cs_steno_17/response_questions.php?t_id=MTMwOTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 14/52
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QID : 247 -
If 2 mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

If mF gduT @ AB X1 T @ S, & & T
IR AHAAl A & diad @ Fgla v Fgla Hr

T8 ufafres gefre

A B

Options:
1)

2)

3)

4)

& |8 & @

Correct Answer:

&

Candidate Answer:

&

http://thepracticetest.in/cs_steno_17/response_questions.php?t_id=MTMwOTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 15/52
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QID : 248 -
In the given figure, what will come opposite to face
containing ‘N’?

@ & T gl # N IF Bole & fouRa =

FHTIA?
P | N
Q| w
S| R
Options:
1)S
2)R
3)Q
aHwW

Correct Answer: S
Candidate Answer: W

QID: 249 -

A word is represented by only one sel of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabels as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for exampla, ‘Y™ can
be represented by 00, 22, etc., and ‘U’ can be represented by 42, 59, etc.
Similarly, you have to identify the set for the word “PRANK".

T G e U GEAT-AAE aRT SuiET T & St o feedt & &/
RN v F B e ¥ Resedt # Bu qw dzaraep sewl 6 gy ol
g geiv aiw & Shar fn Br ow & aneggd # & anegpl & woes Al
ufes # T 0 @ 4 § 3R smepu # 5 " 91 B9 R O U 3eW
F Upel IEh Oofh A A o FOeN wma gWr qefem S oweRar R
SerRoT & faw oy & 00, 22 N EHT 9T S WAl R OOUT U @42,
59, T GHT cofar = & &1 o T ® woer uw # Ry =
“PRANK” ¥ 8T W9 &1 ugadar &

Matrix-1 Matrix-Il
I -l
o[1[2[3]4 5[6[7]&]0

0|Y |1 [|K|W|X E|N[T|X|P|U

1[G|J|N|H|V G|K|[V|O|T|S

ZIE|O|Y|K|T TIL|P|R|A|D

AIIM|GIWI|L|R BI|O|H|J[L|N

4| A|E|U|N]|K g|IP|lJ|Q|V|X

Options:
1) 58, 86, 40, 12, 34

2) 76, 89, 55, 43, 23
3) 23, 34, 78, 55, 02

4) 95, 77, 40, 43, 65
Correct Answer: 95, 77, 40, 43, 65
Candidate Answer: 58, 86, 40, 12, 34
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QID : 250 -
In the given figure, how many red fruits are ripe?

& o smgfa o, e ol For ws gw 2

Fruits /
Wl

Ri;Ie /
TH gu
Options:
1) 17
2)8
3) 18
4)27

Correct Answer: 8
Candidate Answer: 8

QID : 251 - Which one of the following is right about the nature of Indian economy?

HRAT 3rITTELT & TIFT & aR AT i@d H § HisT TT Tk Ahed TeT 872
Options:

1) Mixed economy

fafaa s

2) Socialist economy

HATSAET Jrdegaedr

3) Communist economy

AT IrdegaEr

4) Capitalist economy
ESIEICUEBE GRSl

Correct Answer: Mixed economy

AT srdeaawer
Candidate Answer: [ NOT ANSWERED ]

QID : 252 - Which of the following sector contributes highest to the national income of India?

IR T TSI T 7 Faiiieh QarereT AeAfaf@d & @ Sl ar &7 &ar 872
Options:

1) Banking sector

ST &7 T

2) Trade sector

SITIR &1 T

3) Manufacturing sector

fafasTor 8 @t

4) Agriculture sector

FIY & T

Correct Answer: Manufacturing sector
fafasTor 84 &t

Candidate Answer: Agriculture sector

HIY &7 &1

QID : 253 - Select the appropriate answer from the given options to fill the following sentence.

Market goods generally by currency inflation.

Rerel Tt &Y SeeRqfcd & T 7t v 1w fashedt & & 3ugerd fadey o1 =gel 1.

T TR § SR &Y g qu [
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Options:

1) become expensive

Fgat gv Sl §

2) become cheaper

FE BT ST 8

3) first become expensive and later cheaper
g AL 3R aTe 7 T &Y S §

4) not available at all

Tretepel g1 fArerch €

Correct Answer: become expensive
FgaM gr s

Candidate Answer: become expensive

AgI B ST &
QID : 254 - Which of the following minerals is abundant in the state of Kerala?

AT TEd & & T 1 Gielst el T A T AT H JIed g 872
Options:

1) Monazite

Alose

2) Gold

|t

3) Iron ore

dig-3raEs

4) Graphite

Iprse

Correct Answer: Monazite
Alese

Candidate Answer: Graphite

BT

QID : 255 - Which of the following Act granted autonomy to the provinces in India?

frafafld 3 @ ford 31RfTH garT 5IRa # Uied! ST Ta-—eddr YeTe @I 75 2417
Options:

1) Indian Council Act 1909

AR 9fwe srfafaas 1909

2) Government of India Act 1919

AR TR ATafagd 1919

3) Government of India Act 1935

AR THR Jfafaas 1935

4) None of the option is correct.

1S o farehed e 7T B

Correct Answer: Government of India Act 1935
HRT TR ATafagd 1935

Candidate Answer: None of the option is correct.

15 off fased wEr 1 &1

QID : 256 - Which kind of justice has not been said in the Preamble of Indian Constitution?

AR R 7 TEd1aT # fFE TR & =17 T 19 8T FET TS &7
Options:

1) Democratic

dehdifeae

2) Social

oS

3) Economic

s

4) Political

BECinc

Correct Answer: Democratic
Elcoiitecd
Candidate Answer: Social

iR

QID : 257 - How many fundamental duties are currently described in the Indian Constitution?

AR HAUTeT 7 T 7 Tt et Hifow Focea sfoatad 82
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Options:
1)9

2) 10
3)11

4) 12
Correct Answer: 11
Candidate Answer: [ NOT ANSWERED ]

QID : 258 - The salary and allowances of important office bearers of India are mentioned in which Schedule of the Constitution?

HRA & FAgeca Ul TETRIHIRET & Iciet T sfcct T Seor@ AU BT by Taelr # g3 82
Options:

1) First Schedule

qgm' 9N

2) Second Schedule

55 9N

3) Third Schedule

e v

4) Fourth Schedule

el regegEh

Correct Answer: Second Schedule

E 9N

Candidate Answer: Fourth Schedule

e st

QID : 259 - Which one of the following places of Indus Valley Civilization was situated on the bank of Indus River?

ey TréY T o e faa Tt 7 & @i a1 veh Tt e w78 & fheR o) Fua ar?
Options:

1) Lothal

arerer

2) Mohenjodaro

HigsTolgar

3) Kalibanga

EACICEN)

4) Harappa

gsoar

Correct Answer: Mohenjodaro
HigeTsiles!

Candidate Answer: Lothal
drerer

QID : 260 - Which three Vedas are jointly called "Vedratri"?

fobet SfteT el T FeRT T J " T T &2
Options:

1) Rig Veda, Yajurved, Atharva Veda

HIdT, Agde, NG

2) Rig Veda, Samaveda, Atharva Veda

F3dg, THAIG, JUTAG

3) Rigveda, Samaveda, Yajurveda

FI9G, HHAE, TSde

4) Yajurveda, Samveda, Atharva Veda

Tofde, HTHdE, 3Addg

Correct Answer: Rigveda, Samaveda, Yajurveda
®Ide, TTHEdG, Tda

Candidate Answer: Rigveda, Samaveda, Yajurveda

%3G, WHIG, TG

QID : 261 - Who is considered the first Tirthankara of Jain Dharma?

ST e T ggel R R AT ST 872
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Options:

1) Parshvanath
qrRd=ATT

2) Mahavira Swami
AR 1A

3) Rishabhadev
ERECCH

4) Ajitnath
sifodery

Correct Answer: Rishabhadev
EAEIC)

Candidate Answer: Parshvanath

qTR=Ter

QID : 262 - Which of the following Governor General was related to the abolition of Thuggee?

el # & i A7 TR STerel Sl 9T & SereleT & Featid ar?
Options:

1) Lord Cornwallis

TS Pltaterd

2) Lord William Bentinck

oS Afoae I

3) Lord Charles Metcalfe

TS Ao HehTh

4) Sir Henry Hardinge

| g gIfSar

Correct Answer: Lord William Bentinck
ats fafoge dféew

Candidate Answer: [ NOT ANSWERED ]

QID : 263 - Which one of the following landscapes is not formed by the glacier?

e 3 A T @1 U $[ped RAg & AT 8 @ 2
Options:

1) Moraine

e

2) Meander

Rk

3) U-shaped Valley

-1 T ETeT

4) Fiord

Reas

Correct Answer: Meander

Eric]

Candidate Answer: Fiord

s

QID : 264 - Which one of the followings is not an example of folded mountain?

AFfaf@a 3 Fis &1 v ASER 99 T T 3GTEX0T AL 87
Options:

1) Himalaya

AT

2) Rocky

R

3) Aravali

KINCE)

4) Andes

lcir)

Correct Answer: Aravali
KiNCE]
Candidate Answer: [ NOT ANSWERED ]

QID : 265 - Which is the second largest planet in the solar system?

TRHASE FT GERT T 5T TE et AT §?
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Options:

1) Saturn

erfer

2) Uranus

T

3) Earth

il

4) Mars

FIST

Correct Answer: Saturn

rfer

Candidate Answer: Saturn

ey

QID : 266 - Which port is located at the northern entrance to the Suez Canal?

FIST 76T o Scdl T GaR IR hieT AT FEXeTg Iafedrd §?
Options:

1) Cairo

T

2) Port Said

RICREC)

3) Port Rotterdam

e AesH

4) Port Alexandria

¢ 3rerFaiizar

Correct Answer: Port Said
RICR:EC

Candidate Answer: Cairo

T

QID : 267 - Which of the following is studied under Phycology?

FISHIdTT F 3ided Refar@d & & fraer sregae fhar Srar 82
Options:

1) Flower

Bl

2) Orchid

s

3) Fungus

Hdeh

4) Algae

darer

Correct Answer: Algae

darer

Candidate Answer: Fungus
hdsh

QID : 268 - Which of the following is not a root?

FAfafld & @ FisT a1 v o735 76T 87
Options:

1) Potato

3.

2) Radish

T

3) Carrot

Mo

4) Yam

Srefiehe

Correct Answer: Potato
3Te]

Candidate Answer: Potato
AT

LN

QID : 269 - What is the botanical name of a wheat plant?

ﬁg’é?q’rﬁmmmrqﬁmamw%?
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Options:

1) Oryza sativa

3R wergar

2) Triticum aestivum

fefewar vedian

3) Zea mays

o At

4) Nelumbo Nucifera

s fe

Correct Answer: Triticum aestivum
efewrn weéam

Candidate Answer: Triticum aestivum

Rfewra wedam

QID : 270 - Which of the following is not needed for photosynthesis?

FATITET # I 1T TLATT o T foRaehl ST w18T arail &7
Options:

1) Water

k)

2) Sunlight

LN

3) Chloroplast

FARTCARES

4) Oxygen

3itereiaTe

Correct Answer: Oxygen
JiTerelisteT

Candidate Answer: Chloroplast

FARITARET

QID : 271 - Who among the following scientists discovered the first free living cell?

Aot & & for dTfereh o TavH Shfae Herd IR 6 Tiet T 2
Options:

1) Robert Hooke

e &

2) Anton Von Leeuwenhoek

3) Purkinje

; .

4) Robert Brown

A F3A

Correct Answer: Anton Von Leeuwenhoek
Candidate Answer: Robert Hooke

e gF
QID : 272 - Which of the following crop is related to Tikka Disease?

T Uo7 FaATafld & & ford waa & §afid 82
Options:

1) Rice

Iqrdel

2) Potato

3o

3) Sugarcane

AT

4) Groundnut

HITweT

Correct Answer: Groundnut
TR

Candidate Answer: Sugarcane
o=l

QID : 273 - Dioptre is the SI Unit of which of the followings?

SRiTeeR AT & I Rradr wa3ms sos 37
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Options:

1) Wavelength

GECIEAZ )

2) Flame intensity

St digar

3) Power of lens

o & afFa

4) Magnetic power

Frahr e

Correct Answer: Power of lens

EREIRICT]

Candidate Answer: Flame intensity

s dear

QID : 274 - Which of the following statements is correct about mass and weight?

GSIATT 3R AR & a9 7 fArafaf@a & & Sl a1 73T T 82
Options:

1) Mass is changeable

SSIATT IRAAAT §

2) Weight is unchangeable

R IIRTIT §

3) Mass is unchangeable

IHTA 3ARadAT &

4) None of the option is correct.

#1$ ol Tashed TET =181 &1

Correct Answer: Mass is unchangeable
SeTATT IR §

Candidate Answer: [ NOT ANSWERED ]

QID : 275 - Acceleration in a body by an unbalanced force is

Tl 3rqfeIeT oot gary el Tus & Seeet cagor I
Options:

1) proportional of force

ol & TTShATTITCH Bl &

2) inverse of force

T & SAFHTII BTl &

3) remains independent of force effect
I & T § TaT T ¥

4) always remains zero

FHIT I BT ©

Correct Answer: proportional of force
T & JTHATTA el &

Candidate Answer: inverse of force

T 35 TR 2N &

QID : 276 - Skating on the ice shows that the increase in pressure the melting point of ice.

T IR TR FHEAT UG TRTd Xl § o &9 dgiel IR 9 & Tcfsticn I
Options:

1) decreases

HE ST §

2) increases

TG ST &

3) first decreases and later increases

UEe Tedm § T Sedr §

4) remains unchangeable with

3Rafda war

Correct Answer: decreases

e ST &

Candidate Answer: remains unchangeable with

safafda war g

QID : 277 - What is the full form of IBM?

3MTSSTH T 9T faEdr &= §?
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Options:

1) International Business Machine

e oot FefeT

2) Indian Beta Machine

HERCRCE O RN

3) Integral Business Machine

gérarer foeterg #Lhe

4) Internal Beta Machine

geXaTol sirer AT

Correct Answer: Indian Beta Machine

g9 fostara aefier

Candidate Answer: International Business Machine

gerrereTel fooad AT

QID : 278 - What is Michelangelo in the world of computers?

HTIET T GfoTdT & ATShel Tololl FT £72

Options:

1) A High Quality Designer Software
TS ITgaife o s iaer arreax
2) A virus

Tsh a3y

3) A type of circuit

T YhR T Tfhe

4) None of the option is correct.
g o faehed T =7eT

Correct Answer: A virus

Ueh g3y

Candidate Answer: None of the option is correct.

I oY faehed T 7T &1

QID : 279 - What is called a substance when it is made from combination in a certain proportion of two or more elements?

ar & &1 & Jiftres docdl & Ue AREd 3eTdTe 7 FAET Fet & ST TaTd AT FEoAe 67

Options:

1) pure element

g decd

2) compound

i

3) pure mixture

g fasmoT

4) pure liquid

g el

Correct Answer: compound

i
Candidate Answer: [ NOT ANSWERED ]

QID : 280 - Which of the following is a chargeless particle?

AFATafld 7 § FieT a1 v AR fET For 87

Options:

1) Alpha particle
37T 0T

2) Proton

e

3) Electrone
Folergre

4) Neotrone
=gl

%

Correct Answer: Neotrone
—ot

[N

Candidate Answer: Neotrone

Y]

Fgglel
QID : 281 - Chemical nature of an element depends on which of the followings?

el deca T TETAE Tl ol 7 & frg w1 e e 82
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Options:

1) On proton

g W

2) On charge

AT W

3) On valence electron

ST gelTFer W

4) None of the option is correct.

@1g o Tashed &eY 81 81

Correct Answer: On valence electron

TS gelergrel

Candidate Answer: None of the option is correct.

IS ot faea FEr 76T &

QID : 282 - Radio activity is the characteristic of which of the following?

Wi fertaf@rd & & feraen o7 §?

Options:

1) Nucleus

ClticH

2) Electron

EREin)

3) Proton

grerT

4) Neutron

Correct Answer: Nucleus

BuEc
Candidate Answer: Neutron

1Y)

gl

£\

QID : 283 - Which of the following is not a component of human-made environment?

Pfaf@a & @ #ia a1 v AaRfET TITaroT ST UF g 78 87
Options:

1) Settlement

FEIT

2) Land

af

3) Agriculture

FY

4) Transport

RIS

Correct Answer: Land

A

~

Candidate Answer: Transport

apsisic
QID : 284 - To maintain ecological balance, how much proportion of forest in India should be?

IIRFETCRT FJelel F1TT W & foIT 8T # Siarel fohclet 31oqaTel & gl TIfET?
Options:

1) 20-23%

2) 25-28%

3) 31-34%

4) 42-45%

Correct Answer: 31-34%

Candidate Answer: 31-34%

QID : 285 - What is the main purpose of the "RUSA" scheme launched in 2013?

T 2013 # L& Y IS "TAT" ASTAT HT FITHY 32T FAT 82
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Options:

1) Providing finance to higher educational institutions of the states

Tl &Y s AMaven FEn3i o e gear =

2) Providing financial assistance for marriageable poor girls

g 99 IR TsfRat & T e Tgradr &=

3) Special arrangements for the treatment of old citizens

g AR o Fafehcam $T [ sgaear s

4) None of the option is correct.

1S o frehed T 71T B

Correct Answer: Providing finance to higher educational institutions of the states

TSl Y FTeeR QMaven T3t 1 faed e T

Candidate Answer: [ NOT ANSWERED ]

QID : 286 - What is the prime objective of Prime Minister Ujjwala Yojna (PMUY)?

T FAY Seodal ATl (NUAETS) FT T 322 FAT 52
Options:

1) Electric lighting arrangement on rural roads
AT Fehi R FaCG el FhTer Y caEAr

2) LPG connection to BPL families

oo aRaRT #Y Terdish FeraereT ST

3) Insure the BPL Family Head

Sidieer TRaR & HRGAT 1 AT FarAr

4) None of the option is correct.

15 off fased wEr 18 &1

Correct Answer: LPG connection to BPL families
drdieer aRaRt #r Tadis FHeaaere gar

Candidate Answer: LPG connection to BPL families
drduer aRaRT @ Tdel Faerre &T

QID : 287 - Who among the following is credited to travel around the earth first time through the sea route?

FHE TE @ FATYH FEYOT Gl &l TFRT ol &l A TAeafafla 7 & &y &= siran g2
Options:

1) Bartholomew Diaz

Feifelry s

2) Ferdinand Magellan

HiSeis e

3) James Cook

S TR

4) Juan Sebastian Elcano

ST AT Tefehalt

Correct Answer: Ferdinand Magellan
wiEg HrerT

Candidate Answer: [ NOT ANSWERED ]

QID : 288 - Which of the following scientists is credited with the invention of cinema(Motion Picture)?

rAfafEd & I v dafares ot RaT (TafaT) & 3nfassR &1 337 e Smar &2

Options:
1) Wright Brothers

T FEH

2) Lumiere Brothers

AR e

3) Michael Faraday

ATSHoT hars

4) None of the option is correct.

1S o oo T 1eT &1

Correct Answer: Lumiere Brothers
P s

Candidate Answer: [ NOT ANSWERED ]

QID : 289 - Tania Sachdev is related to which of the following sports?

aferT gada Reafafad & ¥ 59 oo § gefig &2
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Options:

1) Golf
Bl

2) Snooker
&AL

3) Chess

AT

4) Boxing

S

Correct Answer: Chess

AT

Candidate Answer: Boxing

.

QID : 290 - Who among of the following is author of the book "Idols"?

"IISH" AT TEcloh & oeh Toa=Tiel & & & Pl 87

Options:

1) Ravi Shastri
RERc]

2) Harsha Bhogle
&Y Hiarer

3) Sunil Gavaskar
GeATeT IR

4) M.S. Dhoni
TH.TH. il

Correct Answer: Sunil Gavaskar
g?ﬁzr IMAERT
Candidate Answer: Harsha Bhogle

REccH

QID : 291 - Which of the following has been called "Tota-e-Hind" i.e. Parrot of India?

frafafed 3 & e "diar-u-feeg" wer = §?
Options:

1) Ziauddin Barani

TrRI3E st

2) Rahim Khan-e-Khana

TEIH WITE=AT

3) Amir Khusrow

AR gE

4) Malik Muhammad Jayasi

afcreh Hgrag ST

Correct Answer: Amir Khusrow
FAR gaE

Candidate Answer: Amir Khusrow

AR gE

QID : 292 - Which of the following is a South Indian dance style?

frFfafla 7 & e U GIaT TR e A §?
Options:

1) Kathakali

FHUF T

2) Kathak

Hcdh

3) Odissi

anfsel

4) Manipuri

AT

2
Correct Answer: Kathakali

FHUFHAT

Candidate Answer: Kathakali

FUFAT
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QID : 293 - How much prize money is given for "Mahatma Gandhi Peace Prize"?

HETCHT aTelr il UEhR" & et fanctell qREaR AR Feret T el 872
Options:
1) 2.5 million
25 9@
2) 5 million
50 @
3) One crore
Th I3
4) Two crore

CUERIES

Correct Answer: One crore
Th TS

Candidate Answer: 2.5 million
25 9@

QID : 294 - Nobel Prize is not given for which of the following subject ?

ot 7 & fre R o Ao qresR 78 e srar 82
Options:

1) Mathematical

oI

2) Medicine

Tafercar

3) Chemistry

F: i)

4) Economics

3T

Correct Answer: Mathematical

aifora

Candidate Answer: Mathematical

aifora

QID : 295 - Who among the following is author of the book "Test of My Life"?

"EET 3T AT ATSH" AHE Tl & o Heiiolidd 3§ J Hidt 87
Options:

1) Yuvraj Singh

ECNE AR

2) Mahendra Singh Dhoni

#gs &g el

3) Gautam Gambhri

Tt 7R

4) Virat Kohli

[ERCEEC]

Correct Answer: Yuvraj Singh
EENERE

Candidate Answer: Gautam Gambhri

EIGE RIS

QID : 296 - Which among the following is not a famous writer of English?

fFafaf@d & & i 31396 & ufag o 78 §?
Options:

1) Chetan Bhagat

Acfel HITA

2) Namvar Singh

AR g

3) Ruskin Bond

Ieepet dfvg

4) Anita Desai

3efraT &HE

Correct Answer: Namvar Singh
AR A

Candidate Answer: Namvar Singh
AR AT
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QID : 297 - Where is the headquarters of the international organization "BRICS" located?

Options:

1) Shanghai

eI

2) New Delhi

7§ el

3) Brasilia

sSiforar

4) Moscow

HTEHT

Correct Answer: Shanghai
NEIES

Candidate Answer: Shanghai

<fETS

QID : 298 - The military exercise "Maitree 2016" was exersized between India and which of the following country?

"HET 2016" ATAS Fe IATE AR HR TAFAfATRT F & foha &er & e gam?
Options:

1) China

T

2) Pakistan

qrferedret

3) Thailand

sl

4) Rassia

*H

Correct Answer: Thailand
USels

Candidate Answer: Rassia
TH

QID : 299 - Which of the following gem-stone is not produced on large scale in Myanmar?

AT e P IeaR & FIAR & 93 YA R Scdree w87 har Sirdr &7
Options:

1) Rubies

ATfors

2) Sapphires

Aot

3) Diamond

[y
4) Jade

ERAmeH (318)
Correct Answer: Diamond

T
Candidate Answer: [ NOT ANSWERED ]

QID : 300 - Who is the first woman President of Sri Lanka?

HeiehT &I Tgell AT TSl hiet §2
Options:

1) Wimala Kannangara

AT FeatIrT

2) Leticia Rajapakse

wifedrar ey

3) Sirimavo Bandaranaike

AR sUSRATSS

4) Chandrika Kumaratunga

Correct Answer: Sirimavo Bandaranaike
TARFATEY USR-S

Candidate Answer: [ NOT ANSWERED ]
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QID : 301 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

You don't have to invest (1)/ on an fancy camera if you're (2)/ not a photography buff. (3)/ No Error (4)

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 2
Candidate Answer: 2

QID : 302 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

We accept unbelievably low rates for (1)/ sponsored articles; (2)/ a "something is better than nothing" kind of attitude. (3)/ No Error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 303 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

For candidates with work-experience, interview (1)/ questions about their company test depth of their knowledge (2)/ and understandings of immediate
environment. (3)/ No error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 3
Candidate Answer: 2

QID : 304 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Agent Chitrangada will telegraphed a secret (1)/ code word to her boss as part (2)/ of a dubious mission. (3)/No Error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 1
Candidate Answer: 1

QID : 305 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

You have too save the day by (1)/ cracking the code and (2)/ determining the code word. (3)/ No error (4)

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID : 306 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

This short-term mentality, (1)/ most of the times, leads to undesired (2)/ loss and disappointment. (3)/ No error (4)
Options:

1)1

2)2

3)3

4)4
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Correct Answer: 4
Candidate Answer: 2

QID : 307 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Gear up of five days (1) /of non-stop shopping (2)/ and unlimited savings. (3)/ No Error (4)

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 1
Candidate Answer: 2

QID : 308 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

It brings to you a basket of opportunities (1)/ that takes you to the positions of high (2)/ responsibilities at top corporates. (3)/ No Error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 4
Candidate Answer: 1

QID : 309 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Hard as it is to believe, (1)/ she has no formal education also (2)/ training in content at all. (3)/ No Error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID : 310 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

I also used to write scripts for hosting school (1)/ functions. Though, on that time I (2)/ hadn't identified this interest. (3)/ No error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID : 311 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

Either she or her friends (have planning) to come here.

Options:

1) is planning

2) has planning

3) are planning

4) No improvement

Correct Answer: are planning
Candidate Answer: has planning

QID : 312 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

(I, you and she)are the best brains here.
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Options:
1) You, she and I

2) I, she and you
3) She, you and I

4) No improvement
Correct Answer: You, she and I
Candidate Answer: You, she and I

QID : 313 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

Blood is thicker (than) water.

Options:

1) then

2) when

3) more than

4) No improvement

Correct Answer: No improvement

Candidate Answer: then

QID : 314 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

She has worked (really hardly) and has no issues with fitness or her game.

Options:

1) so hardly

2) really hard

3) real hardly

4) No improvement

Correct Answer: really hard

Candidate Answer: really hard

QID : 315 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

You are requested (to be through) the safety tips and follow the same while using it.

Options:

1) to been over

2) to went throughout

3) to go through

4) No improvement

Correct Answer: to go through

Candidate Answer: to go through

QID : 316 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

We (are hope you) find the process extremely useful and convenient.

Options:

1) hope you

2) are in a hope

3) hoping

4) No improvement
Correct Answer: hope you

Candidate Answer: hope you

QID : 317 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

The government was planning but (I) not sure whether it will happen now.

Options:

1) I will not be

2)Iam

3) won't I be

4) No improvement
Correct Answer: I am

Candidate Answer: I am
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QID : 318 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

It (was a to be a sister company) of ABC Group of Companies.

Options:

1) is a concerned

2) was a to be twin sister
3) is a sister concern

4) No improvement

Correct Answer: is a sister concern
Candidate Answer: [ NOT ANSWERED ]

QID : 319 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

The objective of the game is to be the first one to race from (start and end).

Options:

1) start to end

2) start an end

3) start over end
4) No improvement

Correct Answer: start to end
Candidate Answer: start to end

QID : 320 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement". The player (who has throw) the highest number begins the game.

Options:

1) who has throw
2) who throws

3) who had thrown
4) No improvement

Correct Answer: who throws
Candidate Answer: who had thrown

QID : 321 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

depends on what she says.

Options:

1) Much

2) More

3) Any

4) No more

Correct Answer: Much

Candidate Answer: No more

QID : 322 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

I have milk to drink.
Options:

1) most

2) enough

3) many

4) none
Correct Answer: enough
Candidate Answer: enough

QID : 323 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

There were trees on side of the road.

Options:
1) no

2) any
3) either

4) every
Correct Answer: either
Candidate Answer: every
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QID : 324 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and

indicate it by selecting the appropriate option.

of the land was cultivated.

Options:

1) Two there
2) Two three’s
3) Two's three
4) Two third

Correct Answer: Two third
Candidate Answer: Two third

QID : 325 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and

indicate it by selecting the appropriate option.

Kolkata is the populous city in the world.

Options:
1) more

2) most
3) much

4) many
Correct Answer: most
Candidate Answer: most

QID : 326 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Creep

Options:
1) Crawl

2) Cry
3) Stress

4) Run
Correct Answer: Crawl
Candidate Answer: Crawl

QID : 327 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Natural

Options:
1) Skill

2) Uncommon
3) Pretended

4) Usual
Correct Answer: Usual
Candidate Answer: Uncommon

QID : 328 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Decoy

Options:
1) Steal

2) Foll
3) Trap

4) Attempt
Correct Answer: Trap
Candidate Answer: Steal

QID : 329 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Entice
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Options:
1) Beautiful

2) Allure
3) Miracle

4) Repel
Correct Answer: Allure
Candidate Answer: Allure

QID : 330 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Pursuit

Options:

1) Retreat

2) Drive

3) Trail

4) Dearth

Correct Answer: Trail

Candidate Answer: Dearth

QID : 331 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Valour

Options:
1) Fear

2) Heroism
3) Bravery

4) Endorse
Correct Answer: Fear
Candidate Answer: [ NOT ANSWERED ]

QID : 332 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Sanguine

Options:
1) Hopeful

2) Confident
3) Buoyant

4) Depressed
Correct Answer: Depressed
Candidate Answer: [ NOT ANSWERED ]

QID : 333 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.
Solicit

Options:
1) Entreat

2) Answer
3) Approach

4) Accost
Correct Answer: Answer
Candidate Answer: Approach

QID : 334 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Remorse

Options:

1) Regret

2) Lament

3) Introspect

4) Upright

Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED ]
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QID : 335 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Aversion

Options:
1) Indifferent

2) Dislike
3) Apathy

4) Fondness
Correct Answer: Fondness
Candidate Answer: Apathy

QID : 336 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Look before you leap

Options:

1) To take risk

2) To keep waiting

3) To think before doing
4) To exercise influence

Correct Answer: To think before doing
Candidate Answer: To take risk

QID : 337 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Make a clean breast of it

Options:

1) To take care of

2) To disobey rule

3) To follow the lead

4) To confess completely

Correct Answer: To confess completely
Candidate Answer: To confess completely

QID : 338 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Put the saddle on right horse

Options:
1) To blame the right party

2) To feel superior
3) To resist continuously

4) To go to ruin
Correct Answer: To blame the right party
Candidate Answer: To feel superior

QID : 339 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Strike while the iron is hot

Options:

1) To be contrary to

2) To prevent progress by influence
3) To make use of an opportunity
4) To be unsuccessful

Correct Answer: To make use of an opportunity
Candidate Answer: To make use of an opportunity

QID : 340 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To end in smoke

Options:
1) To go alongside

2) To provoke to quarrel
3) To come to nothing

4) To compensate
Correct Answer: To come to nothing
Candidate Answer: To provoke to quarrel
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QID : 341 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Stress is a

P: lot of people because
Q: of the day to day labour
R: major concern for a

Options:

1) PRQ

2) QRP

3) PQR

4) RPQ

Correct Answer: RPQ
Candidate Answer: RPQ

QID : 342 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

When the

P: our country was

Q: economically backward
R: Britishers left

Options:

1) QPR

2) RPQ

3) PRQ

4) QRP

Correct Answer: RPQ
Candidate Answer: RPQ

QID : 343 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Global warming

P: is the steady and

Q: level of earth temperature
R: continuous rise in the

Options:
1) PRQ

2) RQP
3) RPQ

4) QPR
Correct Answer: PRQ
Candidate Answer: PRQ

QID : 344 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Education is

P: of acquiring

Q: skills and law knowledge
R: an important medium

Options:
1) QRP

2) RPQ
3) PRQ

4) RQP
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 345 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Good health is

P: happiness during his life time
Q: healthy man can enjoy great
R: important because a

http://thepracticetest.in/cs_steno_17/response_questions.php?t_id=MTMwOTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 37/52



Downloaded from www.qmaths.in

10/4/2017 Staff Selection Commision

Options:

1) RQP

2) PRQ

3) QPR

4) RPQ

Correct Answer: RQP

Candidate Answer: RQP

QID : 346 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Nisha has rung the bell.

Options:
1) The bell has been rung by Nisha.

2) The bell was being rung by Nisha.
3) The bell was rung by Nisha.

4) The bell has been being rung by Nisha.
Correct Answer: The bell has been rung by Nisha.
Candidate Answer: The bell has been rung by Nisha.

QID : 347 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

She likes people to call her Mam.

Options:
1) She likes to be called Mam by people.

2) She likes to be call Madam by people.
3) She likes people who call his, Madam.

4) To call her Madam is liked by people.
Correct Answer: She likes to be called Mam by people.
Candidate Answer: She likes to be called Mam by people.

QID : 348 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

The cable wire has been cut.
Options:

1) Someone has been cut the cable wire.
2) No one has cut the cable wire.

3) The cable wire has cut someone.
4) Someone has cut the cable wire.

Correct Answer: Someone has cut the cable wire.
Candidate Answer: Someone has cut the cable wire.

QID : 349 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Will he tell her the truth?

Options:
1) Is the truth told to her by him?

2) The truth will be told to her by him.
3) Will the truth be told to her by him?

4) Will the truth be told her by him?
Correct Answer: Will the truth be told to her by him?
Candidate Answer: The truth will be told to her by him.

QID : 350 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

They waste much time on trifles.

Options:
1) Much time was wasted on trifles.

2) Much time will be wasted on trifles.
3) Much time is wasted by them on trifles.

4) Much time is wasted on trifles.
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Correct Answer: Much time is wasted by them on trifles.
Candidate Answer: Much time was wasted on trifles.

QID : 351 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Rohan gave the beggar an old shirt.

Options:
1) An old shirt was given to Rohan by the beggar.

2) An old shirt was given to the beggar by Rohan.
3) The beggar was gave an old shirt by Rohan.

4) An old shirt was gave to the beggar by Rohan.
Correct Answer: An old shirt was given to the beggar by Rohan.
Candidate Answer: An old shirt was given to the beggar by Rohan.

QID : 352 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

They have made her a queen.

Options:
1) A queen has been made by her.

2) She was made a queen by them.
3) They have been made queens by her.

4) She has been made a queen by them.
Correct Answer: She has been made a queen by them.
Candidate Answer: A queen has been made by her.

QID : 353 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Mr. Gupta asked him a question.
Options:

1) He was asked a question Mr. Gupta.

2) He was asked a question to Mr. Gupta.

3) He was asked a question by Mr. Gupta.
4) A question was being asked by Mr. Gupta.

Correct Answer: He was asked a question by Mr. Gupta.
Candidate Answer: He was asked a question by Mr. Gupta.

QID : 354 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

The teacher punished the students who had not done their homework.

Options:
1) The students who had not done their homework had been punished by their teacher.

2) The students were punished by their teacher who had not done their homework.
3) The students who had not done their homework were punished by the teacher.

4) The students who had not done their homework were being punished by the teacher.
Correct Answer: The students who had not done their homework were punished by the teacher.
Candidate Answer: [ NOT ANSWERED ]

QID : 355 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Who taught you Physics?

Options:

1) By whom Physics?

2) By whom were you taught Physics?
3) By whom was Physics taught to you?
4) By whom are you taught Physics?

Correct Answer: By whom were you taught Physics?
Candidate Answer: By whom were you taught Physics?

QID : 356 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

I said to my friend, "Good Morning. Let us go for a walk today."
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Options:
1) I told good morning to my friend, and asked to go for a walk that day.

2) I wished my friend good morning and proposed that we should go for a walk that day.
3) I wished my friend good morning and proposed that they should go for a walk that day.

4) I told good morning to my friend and suggested to go for a walk today.
Correct Answer: I wished my friend good morning and proposed that we should go for a walk that day.
Candidate Answer: I wished my friend good morning and proposed that we should go for a walk that day.

QID : 357 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Akhil said to his friend, "Look out! There is a snake behind."

Options:

1) Akhil told her friend to look out as there was a snake behind him.

2) Akhil exclaimed to his friend with surprise that there was a snake behind him.
3) Seeing a snake behind him, Akhil asked his friend to look out.

4) Akhil warned his friend that there was a snake behind him.

Correct Answer: Akhil warned his friend that there was a snake behind him.
Candidate Answer: Akhil exclaimed to his friend with surprise that there was a snake behind him.

QID : 358 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

"Keshav made this mess. Let him clear it up", said his father.

Options:
1) Keshav's father said that Keshav had made the mess and proposed that the clear it up.

2) Keshav's father said that Keshav had made that mess and that he was to clear it.
3) Keshav's father said that Keshav had made the mess and suggested that he clear it.

4) Keshav's father said that Keshav had made the mess and that he should clear it.
Correct Answer: Keshav's father said that Keshav had made that mess and that he was to clear it.
Candidate Answer: Keshav's father said that Keshav had made that mess and that he was to clear it.

QID : 359 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

The teacher said to Rakesh, "Congratulations! Wish you success in life."

Options:

1) The teacher congratulated Rakesh and wished him success in life.

2) The teacher wishes congratulation and a very success in life Rakesh.

3) The teacher said congratulation to Rakesh and wished him success in life.
4) The teacher congratulation Rakesh him success in life.

Correct Answer: The teacher congratulated Rakesh and wished him success in life.
Candidate Answer: The teacher wishes congratulation and a very success in life Rakesh.

QID : 360 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Shreya said "You guys may go, I am busy."

Options:
1) Shreya said that she was busy and asked us to go.

2) Shreya was busy so she asked us to go.
3) Shreya said "You go I am busy".

4) Shreya being busy asked us to go.
Correct Answer: Shreya said that she was busy and asked us to go.
Candidate Answer: Shreya said that she was busy and asked us to go.

QID : 361 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

"Do you suppose you know better than your own mother?" his father jeered angrily.
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Options:
1) His angry father jeered and asked if he supposed he knows better than his own mother.

2) His angry father jeered and asked him if he supposed he knew better than his own mother.
3) His angry father jeered and asked him if he supposed he knows better than his mother.

4) His angry father jeered and asked him did he supposed he knew better than his own mother.
Correct Answer: His angry father jeered and asked him if he supposed he knew better than his own mother.
Candidate Answer: [ NOT ANSWERED ]

QID : 362 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

The mother said, "well done son, I am proud of you."

Options:
1) The mother appreciated her son saying that he had done well and that she was proud of him.

2) The mother told her son that she was proud of him as he had done well.
3) The mother said to her son that she was proud of him for doing very well.

4) The mother said her son had done well and that she was proud of him.
Correct Answer: The mother appreciated her son saying that he had done well and that she was proud of him.
Candidate Answer: The mother appreciated her son saying that he had done well and that she was proud of him.

QID : 363 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

He said "Let Parth come with us, mother. I'll take care of him."

Options:

1) He requested his mother to let Parth come with him as he will take care of him.
2) He informed his mother to let Parth come with her as he would take care of him.
3) He asked his mother to let Parth come with them as he would take care of him.
4) He told to his mother let Parth come with us as he would take care of him.

Correct Answer: He asked his mother to let Parth come with them as he would take care of him.
Candidate Answer: He requested his mother to let Parth come with him as he will take care of him.

QID : 364 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

"I've worked for you for five years," man said to them, "What about giving me a raise?"

Options:

1) The man said that he has worked for him for five year. He proposed that he may be given a raise.

2) The man said that he had worked for him for five years. He advised him to give him a raise.

3) The man said that he had worked for him for five years. He suggested that he should give him a raise.
4) The man said that he had worked for them for five years and asked about giving him a raise.

Correct Answer: The man said that he had worked for them for five years and asked about giving him a raise.
Candidate Answer: [ NOT ANSWERED ]

QID : 365 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

I told Reema, "I've been ill, but I'm better now, thanks for asking."

Options:

1) I told Reema that I had been ill, but was better now, and thanks to her for asking.
2) I told Reema that I have ill, but was better now, and said thanks her for asking.
3) I told Reema that I have been ill, but am better then, and thanked her for asking.
4) I told Reema that I had been ill, but was better now, and thanked her for asking.

Correct Answer: I told Reema that I had been ill, but was better now, and thanked her for asking.
Candidate Answer: I told Reema that I had been ill, but was better now, and thanks to her for asking.

QID : 366 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Dreams are both internal and external. Since the ego or the director is absent during sleep the neural pathways have a run of their own. Thus the day long
experiences or the existing memories are the driving force for the internal dreams. However when there is tremendous thinking activity or Sanyam on a particular
thought during waking time, it leads sometimes to solution dreams. Various great inventions and discoveries of the world have come through such dreaming process.
Why we do not remember dreams has been researched by lots of brain scientists and there are many reasons — part of it is to do with creating long term memory.
Nevertheless it is the dreams that we remember that make life interesting. There are many theories of dreams but we still do not know why we dream and why most
of the time we have random and strange dreams. A possible answer may lie in how synapses behave during sleep. The more we dream during the night the less
restful is the sleep. A really restful sleep is deep sleep without dreams. This helps in the flushing out of the toxic material from major part of the brain. Besides
removing the toxins from the brain the increase of synaptic cleft may also help in explaining the dreaming process.

What are dreams?
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Options:

1) Neural pathways

2) Necessary to remove the clutter from the brain
3) Both internal and external

4) Not possible in deep sleep

Correct Answer: Both internal and external
Candidate Answer: Both internal and external

QID : 367 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Dreams are both internal and external. Since the ego or the director is absent during sleep the neural pathways have a run of their own. Thus the day long
experiences or the existing memories are the driving force for the internal dreams. However when there is tremendous thinking activity or Sanyam on a particular
thought during waking time, it leads sometimes to solution dreams. Various great inventions and discoveries of the world have come through such dreaming process.
Why we do not remember dreams has been researched by lots of brain scientists and there are many reasons — part of it is to do with creating long term memory.
Nevertheless it is the dreams that we remember that make life interesting. There are many theories of dreams but we still do not know why we dream and why most
of the time we have random and strange dreams. A possible answer may lie in how synapses behave during sleep. The more we dream during the night the less
restful is the sleep. A really restful sleep is deep sleep without dreams. This helps in the flushing out of the toxic material from major part of the brain. Besides
removing the toxins from the brain the increase of synaptic cleft may also help in explaining the dreaming process.

What does the synaptic cleft helps in?

Options:
1) Explaining the dreaming process

2) Removing the toxins from one’s eyes
3) Making your sleep less restful

4) Making you forget your dreams
Correct Answer: Explaining the dreaming process
Candidate Answer: Making your sleep less restful

QID : 368 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Dreams are both internal and external. Since the ego or the director is absent during sleep the neural pathways have a run of their own. Thus the day long
experiences or the existing memories are the driving force for the internal dreams. However when there is tremendous thinking activity or Sanyam on a particular
thought during waking time, it leads sometimes to solution dreams. Various great inventions and discoveries of the world have come through such dreaming process.
Why we do not remember dreams has been researched by lots of brain scientists and there are many reasons — part of it is to do with creating long term memory.
Nevertheless it is the dreams that we remember that make life interesting. There are many theories of dreams but we still do not know why we dream and why most
of the time we have random and strange dreams. A possible answer may lie in how synapses behave during sleep. The more we dream during the night the less
restful is the sleep. A really restful sleep is deep sleep without dreams. This helps in the flushing out of the toxic material from major part of the brain. Besides
removing the toxins from the brain the increase of synaptic cleft may also help in explaining the dreaming process.

According to the author, why are the dreams that we do not remember are not important?

Options:

1) Let the bygones be the bygones

2) It's the dreams that we remember that make our life interesting
3) It takes a lot of time in trying to remember them

4) It is important to keep Snayam on ourselves

Correct Answer: It's the dreams that we remember that make our life interesting
Candidate Answer: [ NOT ANSWERED ]

QID : 369 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Dreams are both internal and external. Since the ego or the director is absent during sleep the neural pathways have a run of their own. Thus the day long
experiences or the existing memories are the driving force for the internal dreams. However when there is tremendous thinking activity or Sanyam on a particular
thought during waking time, it leads sometimes to solution dreams. Various great inventions and discoveries of the world have come through such dreaming process.
Why we do not remember dreams has been researched by lots of brain scientists and there are many reasons — part of it is to do with creating long term memory.
Nevertheless it is the dreams that we remember that make life interesting. There are many theories of dreams but we still do not know why we dream and why most
of the time we have random and strange dreams. A possible answer may lie in how synapses behave during sleep. The more we dream during the night the less
restful is the sleep. A really restful sleep is deep sleep without dreams. This helps in the flushing out of the toxic material from major part of the brain. Besides
removing the toxins from the brain the increase of synaptic cleft may also help in explaining the dreaming process.

What is a really restful sleep?

Options:

1) A really restful sleep is deep sleep without dreams.

2) A really restful sleep is the one in which all the toxins of our brains are increase flushed out.
3) A really restful sleep is the one in which synaptic cleft is increased.

4) A really restful sleep is the one in which we dream of our past life.

Correct Answer: A really restful sleep is deep sleep without dreams.

Candidate Answer: A really restful sleep is the one in which all the toxins of our brains are increase flushed out.
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QID : 370 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Dreams are both internal and external. Since the ego or the director is absent during sleep the neural pathways have a run of their own. Thus the day long
experiences or the existing memories are the driving force for the internal dreams. However when there is tremendous thinking activity or Sanyam on a particular
thought during waking time, it leads sometimes to solution dreams. Various great inventions and discoveries of the world have come through such dreaming process.
Why we do not remember dreams has been researched by lots of brain scientists and there are many reasons — part of it is to do with creating long term memory.
Nevertheless it is the dreams that we remember that make life interesting. There are many theories of dreams but we still do not know why we dream and why most
of the time we have random and strange dreams. A possible answer may lie in how synapses behave during sleep. The more we dream during the night the less
restful is the sleep. A really restful sleep is deep sleep without dreams. This helps in the flushing out of the toxic material from major part of the brain. Besides
removing the toxins from the brain the increase of synaptic cleft may also help in explaining the dreaming process.

When do neural pathways have a run of their own?

Options:
1) During Sanyam

2) During sleep
3) During intervals

4) During the process of waking up
Correct Answer: During sleep
Candidate Answer: During sleep

QID : 371 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

It was her sister Josephine who told her, in broken sentences; veiled hints that revealed in half concealing. Her husband's friend Richards was there, too, near her. It
was he who had been in the newspaper office when intelligence of the railroad disaster was received, with Brently Mallard's name leading the list of "killed." He had
only taken the time to assure himself of its truth by a second telegram, and had hastened to forestall any less careful, less tender friend in bearing the sad message.
She did not hear the story as many women have heard the same, with a paralyzed inability to accept its significance. She wept at once, with sudden, wild
abandonment, in her sister's arms. When the storm of grief had spent itself she went away to her room alone. She would have no one follow her. There stood,
facing the open window, a comfortable, roomy armchair. Into this she sank, pressed down by a physical exhaustion that haunted her body and seemed to reach into
her soul. She could see in the open square before her house the tops of trees that were all aquiver with the new spring life. The delicious breath of rain was in the
air. In the street below a peddler was crying his wares. The notes of a distant song which someone was singing reached her faintly, and countless sparrows were
twittering in the eaves. There were patches of blue sky showing here and there through the clouds that had met and piled one above the other in the west facing
her window.

How did Josephine spoke to Mrs. Mallard at first?

Options:
1) Half Concealing

2) Disastrously
3) With great care.

4) In broken sentences.
Correct Answer: In broken sentences.
Candidate Answer: Half Concealing

QID : 372 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

It was her sister Josephine who told her, in broken sentences; veiled hints that revealed in half concealing. Her husband's friend Richards was there, too, near her. It
was he who had been in the newspaper office when intelligence of the railroad disaster was received, with Brently Mallard's name leading the list of "killed." He had
only taken the time to assure himself of its truth by a second telegram, and had hastened to forestall any less careful, less tender friend in bearing the sad message.
She did not hear the story as many women have heard the same, with a paralyzed inability to accept its significance. She wept at once, with sudden, wild
abandonment, in her sister's arms. When the storm of grief had spent itself she went away to her room alone. She would have no one follow her. There stood,
facing the open window, a comfortable, roomy armchair. Into this she sank, pressed down by a physical exhaustion that haunted her body and seemed to reach into
her soul. She could see in the open square before her house the tops of trees that were all aquiver with the new spring life. The delicious breath of rain was in the
air. In the street below a peddler was crying his wares. The notes of a distant song which someone was singing reached her faintly, and countless sparrows were
twittering in the eaves. There were patches of blue sky showing here and there through the clouds that had met and piled one above the other in the west facing
her window.

Who was killed?

Options:
1) Richard

2) Josephine
3) Brently Mallard

4) Mrs. Mallard
Correct Answer: Brently Mallard
Candidate Answer: Brently Mallard
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QID : 373 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

It was her sister Josephine who told her, in broken sentences; veiled hints that revealed in half concealing. Her husband's friend Richards was there, too, near her. It
was he who had been in the newspaper office when intelligence of the railroad disaster was received, with Brently Mallard's name leading the list of "killed." He had
only taken the time to assure himself of its truth by a second telegram, and had hastened to forestall any less careful, less tender friend in bearing the sad message.
She did not hear the story as many women have heard the same, with a paralyzed inability to accept its significance. She wept at once, with sudden, wild
abandonment, in her sister's arms. When the storm of grief had spent itself she went away to her room alone. She would have no one follow her. There stood,
facing the open window, a comfortable, roomy armchair. Into this she sank, pressed down by a physical exhaustion that haunted her body and seemed to reach into
her soul. She could see in the open square before her house the tops of trees that were all aquiver with the new spring life. The delicious breath of rain was in the
air. In the street below a peddler was crying his wares. The notes of a distant song which someone was singing reached her faintly, and countless sparrows were
twittering in the eaves. There were patches of blue sky showing here and there through the clouds that had met and piled one above the other in the west facing
her window.

Why would Mrs. Mallard have no one follow her?

Options:
1) She wanted to be alone in this moment of grief.

2) No one dared to enter her room.
3) She wanted to secretly make merry and that is why refused visitors.

4) Something stopped everyone from entering her room.
Correct Answer: She wanted to be alone in this moment of grief.
Candidate Answer: She wanted to be alone in this moment of grief.

QID : 374 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

It was her sister Josephine who told her, in broken sentences; veiled hints that revealed in half concealing. Her husband's friend Richards was there, too, near her. It
was he who had been in the newspaper office when intelligence of the railroad disaster was received, with Brently Mallard's name leading the list of "killed." He had
only taken the time to assure himself of its truth by a second telegram, and had hastened to forestall any less careful, less tender friend in bearing the sad message.
She did not hear the story as many women have heard the same, with a paralyzed inability to accept its significance. She wept at once, with sudden, wild
abandonment, in her sister's arms. When the storm of grief had spent itself she went away to her room alone. She would have no one follow her. There stood,
facing the open window, a comfortable, roomy armchair. Into this she sank, pressed down by a physical exhaustion that haunted her body and seemed to reach into
her soul. She could see in the open square before her house the tops of trees that were all aquiver with the new spring life. The delicious breath of rain was in the
air. In the street below a peddler was crying his wares. The notes of a distant song which someone was singing reached her faintly, and countless sparrows were
twittering in the eaves. There were patches of blue sky showing here and there through the clouds that had met and piled one above the other in the west facing
her window.

What all she could see from her window?

Options:

1) Top of trees.

2) Breathe of rain in the air.
3) Notes of a distant song.
4) All of these

Correct Answer: Top of trees.
Candidate Answer: Breathe of rain in the air.

QID : 375 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

It was her sister Josephine who told her, in broken sentences; veiled hints that revealed in half concealing. Her husband's friend Richards was there, too, near her. It
was he who had been in the newspaper office when intelligence of the railroad disaster was received, with Brently Mallard's name leading the list of "killed." He had
only taken the time to assure himself of its truth by a second telegram, and had hastened to forestall any less careful, less tender friend in bearing the sad message.
She did not hear the story as many women have heard the same, with a paralyzed inability to accept its significance. She wept at once, with sudden, wild
abandonment, in her sister's arms. When the storm of grief had spent itself she went away to her room alone. She would have no one follow her. There stood,
facing the open window, a comfortable, roomy armchair. Into this she sank, pressed down by a physical exhaustion that haunted her body and seemed to reach into
her soul. She could see in the open square before her house the tops of trees that were all aquiver with the new spring life. The delicious breath of rain was in the
air. In the street below a peddler was crying his wares. The notes of a distant song which someone was singing reached her faintly, and countless sparrows were
twittering in the eaves. There were patches of blue sky showing here and there through the clouds that had met and piled one above the other in the west facing
her window.

How did Mrs. Mallard react to the news?

Options:

1) She cried inconsolably.

2) She cried for some time and then withdrew for her room.

3) She heard it with a paralyzed inability to accept its significance.

4) She started searching for her soul.

Correct Answer: She cried for some time and then withdrew for her room.

Candidate Answer: She heard it with a paralyzed inability to accept its significance.
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QID : 376 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

She dressed plainly because she had never been able to afford anything better, but she was as unhappy as if she had once been wealthy. Women don't belong to a
caste or class; their beauty, grace, and natural charm take the place of birth and family. Natural delicacy, instinctive elegance and a quick wit determine their place
in society, and make the daughters of commoners the equals of the very finest ladies. She suffered endlessly, feeling she was entitled to all the delicacies and
luxuries of life. She suffered because of the poorness of her house as she looked at the dirty walls, the worn-out chairs and the ugly curtains. All these things that
another woman of her class would not even have noticed tormented her and made her resentful. The sight of the little Brenton girl who did her housework filled her
with terrible regrets and hopeless fantasies. She dreamed of silent antechambers hung with Oriental tapestries, lit from above by torches in bronze holders, while
two tall footmen in knee-length breeches napped in huge armchairs, sleepy from the stove's oppressive warmth. She dreamed of vast living rooms furnished in rare
old silks, elegant furniture loaded with priceless ornaments, and inviting smaller rooms, perfumed, made for afternoon chats with close friends - famous, sought after
men, who all women envy and desire.

Why did she dress plainly?

Options:
1) She was as unhappy as if she had once been wealthy.

2) She has suffered endlessly.
3) She had never been able to afford anything better.

4) She like being plain, that was her style.
Correct Answer: She had never been able to afford anything better.
Candidate Answer: She had never been able to afford anything better.

QID : 377 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

She dressed plainly because she had never been able to afford anything better, but she was as unhappy as if she had once been wealthy. Women don't belong to a
caste or class; their beauty, grace, and natural charm take the place of birth and family. Natural delicacy, instinctive elegance and a quick wit determine their place
in society, and make the daughters of commoners the equals of the very finest ladies. She suffered endlessly, feeling she was entitled to all the delicacies and
luxuries of life. She suffered because of the poorness of her house as she looked at the dirty walls, the worn-out chairs and the ugly curtains. All these things that
another woman of her class would not even have noticed tormented her and made her resentful. The sight of the little Brenton girl who did her housework filled her
with terrible regrets and hopeless fantasies. She dreamed of silent antechambers hung with Oriental tapestries, lit from above by torches in bronze holders, while
two tall footmen in knee-length breeches napped in huge armchairs, sleepy from the stove's oppressive warmth. She dreamed of vast living rooms furnished in rare
old silks, elegant furniture loaded with priceless ornaments, and inviting smaller rooms, perfumed, made for afternoon chats with close friends - famous, sought after
men, who all women envy and desire.

Why did ‘she’ suffer endlessly?

Options:

1) Because she was entitled to all the delicacies.

2) Because of the poorness of her house.

3) Because she didn't belong to the caste of other women.

4) Because she notices things that no other women would ever notice.

Correct Answer: Because of the poorness of her house.
Candidate Answer: Because she was entitled to all the delicacies.

QID : 378 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

She dressed plainly because she had never been able to afford anything better, but she was as unhappy as if she had once been wealthy. Women don't belong to a
caste or class; their beauty, grace, and natural charm take the place of birth and family. Natural delicacy, instinctive elegance and a quick wit determine their place
in society, and make the daughters of commoners the equals of the very finest ladies. She suffered endlessly, feeling she was entitled to all the delicacies and
luxuries of life. She suffered because of the poorness of her house as she looked at the dirty walls, the worn-out chairs and the ugly curtains. All these things that
another woman of her class would not even have noticed tormented her and made her resentful. The sight of the little Brenton girl who did her housework filled her
with terrible regrets and hopeless fantasies. She dreamed of silent antechambers hung with Oriental tapestries, lit from above by torches in bronze holders, while
two tall footmen in knee-length breeches napped in huge armchairs, sleepy from the stove's oppressive warmth. She dreamed of vast living rooms furnished in rare
old silks, elegant furniture loaded with priceless ornaments, and inviting smaller rooms, perfumed, made for afternoon chats with close friends - famous, sought after
men, who all women envy and desire.

What did she NOT dream of?

Options:

1) Men, whom all women want to marry.

2) Vast rooms furnished in rare old silks.

3) Elegant furniture loaded with priceless ornaments.

4) Inviting smaller rooms, perfumed, made for afternoon chats.

Correct Answer: Men, whom all women want to marry.
Candidate Answer: Elegant furniture loaded with priceless ornaments.

QID : 379 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

She dressed plainly because she had never been able to afford anything better, but she was as unhappy as if she had once been wealthy. Women don't belong to a
caste or class; their beauty, grace, and natural charm take the place of birth and family. Natural delicacy, instinctive elegance and a quick wit determine their place
in society, and make the daughters of commoners the equals of the very finest ladies. She suffered endlessly, feeling she was entitled to all the delicacies and
luxuries of life. She suffered because of the poorness of her house as she looked at the dirty walls, the worn-out chairs and the ugly curtains. All these things that
another woman of her class would not even have noticed tormented her and made her resentful. The sight of the little Brenton girl who did her housework filled her
with terrible regrets and hopeless fantasies. She dreamed of silent antechambers hung with Oriental tapestries, lit from above by torches in bronze holders, while
two tall footmen in knee-length breeches napped in huge armchairs, sleepy from the stove's oppressive warmth. She dreamed of vast living rooms furnished in rare
old silks, elegant furniture loaded with priceless ornaments, and inviting smaller rooms, perfumed, made for afternoon chats with close friends - famous, sought after
men, who all women envy and desire.

What filled her with terrible regret and hopeless fantasies?
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Options:
1) A look at the dirty walls, the worn-out chairs and the ugly curtains.

2) The sight of the little Brenton girl who did her housework.
3) Two tall footmen in knee-length breeches napped in huge armchairs.

4) Their beauty, grace, and natural charm take the place of birth and family.
Correct Answer: The sight of the little Brenton girl who did her housework.
Candidate Answer: The sight of the little Brenton girl who did her housework.

QID : 380 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

She dressed plainly because she had never been able to afford anything better, but she was as unhappy as if she had once been wealthy. Women don't belong to a
caste or class; their beauty, grace, and natural charm take the place of birth and family. Natural delicacy, instinctive elegance and a quick wit determine their place
in society, and make the daughters of commoners the equals of the very finest ladies. She suffered endlessly, feeling she was entitled to all the delicacies and
luxuries of life. She suffered because of the poorness of her house as she looked at the dirty walls, the worn-out chairs and the ugly curtains. All these things that
another woman of her class would not even have noticed tormented her and made her resentful. The sight of the little Brenton girl who did her housework filled her
with terrible regrets and hopeless fantasies. She dreamed of silent antechambers hung with Oriental tapestries, lit from above by torches in bronze holders, while
two tall footmen in knee-length breeches napped in huge armchairs, sleepy from the stove's oppressive warmth. She dreamed of vast living rooms furnished in rare
old silks, elegant furniture loaded with priceless ornaments, and inviting smaller rooms, perfumed, made for afternoon chats with close friends - famous, sought after
men, who all women envy and desire.

According to the passage, which statement is TRUE?

Options:
1) Women don't belong to a caste or class.

2) Daughters of commoners are the equals of the very finest ladies.
3) Beauty, grace, and natural charm come from birth and family.

4) Natural delicacy, instinctive elegance and a quick wit has no place.
Correct Answer: Women don't belong to a caste or class.
Candidate Answer: Beauty, grace, and natural charm come from birth and family.

QID : 381 - Following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

India is a very country known for its cultural heritage, traditions, civilization, religion and geographical features from the time. On the other hand, it
is also popular as a chauvinistic nation. Today, women in India are given first priority however it was not the same always. They were treated in the
family and society. They were limited only to the household or to fulfill the responsibilities of home and family members. They were kept totally unaware of
their rights and own development. People of India used to call this country as "Bharat-Mata" however never realized the true meaning of it. Bharat-Mata means a

of every Indian whom we have to and care for always. Women constitute power of the country so in order to make this a fully
powerful country, women empowerment is very

India is a very country known for its cultural heritage,

Options:
1) harsh

2) crucial
3) famous

4) significant
Correct Answer: famous
Candidate Answer: famous

QID : 382 - Following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

India is a very country known for its cultural heritage, traditions, civilization, religion and geographical features from the time. On the other hand, it
is also popular as a chauvinistic nation. Today, women in India are given first priority however it was not the same always. They were treated in the
family and society. They were limited only to the household or to fulfill the responsibilities of home and family members. They were kept totally unaware of
their rights and own development. People of India used to call this country as "Bharat-Mata" however never realized the true meaning of it. Bharat-Mata means a
of every Indian whom we have to and care for always. Women constitute power of the country so in order to make this a fully
powerful country, women empowerment is very

and geographical features from the time.

Options:
1) ancient

2) real
3) modern

4) imaginative
Correct Answer: ancient
Candidate Answer: ancient
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QID : 383 - Following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

India is a very country known for its cultural heritage, traditions, civilization, religion and geographical features from the time. On the other hand, it
is also popular as a chauvinistic nation. Today, women in India are given first priority however it was not the same always. They were treated in the
family and society. They were limited only to the household or to fulfill the responsibilities of home and family members. They were kept totally unaware of
their rights and own development. People of India used to call this country as "Bharat-Mata" however never realized the true meaning of it. Bharat-Mata means a
of every Indian whom we have to and care for always. Women constitute power of the country so in order to make this a fully
powerful country, women empowerment is very

asa chauvinistic nation.

Options:
1) female

2) child
3) adult

4) male
Correct Answer: male
Candidate Answer: female

QID : 384 - Following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

India is a very country known for its cultural heritage, traditions, civilization, religion and geographical features from the time. On the other hand, it
is also popular as a chauvinistic nation. Today, women in India are given first priority however it was not the same always. They were treated in the
family and society. They were limited only to the household or to fulfill the responsibilities of home and family members. They were kept totally unaware of

their rights and own development. People of India used to call this country as "Bharat-Mata" however never realized the true meaning of it. Bharat-Mata means a
of every Indian whom we have to and care for always. Women constitute power of the country so in order to make this a fully
powerful country, women empowerment is very

the other hand they were treated in the family

Options:
1) highly

2) badly
3) largely

4) gradually
Correct Answer: badly
Candidate Answer: gradually

QID : 385 - Following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

India is a very country known for its cultural heritage, traditions, civilization, religion and geographical features from the time. On the other hand, it
is also popular as a chauvinistic nation. Today, women in India are given first priority however it was not the same always. They were treated in the
family and society. They were limited only to the household or to fulfill the responsibilities of home and family members. They were kept totally unaware of
their rights and own development. People of India used to call this country as "Bharat-Mata" however never realized the true meaning of it. Bharat-Mata means a
of every Indian whom we have to and care for always. Women constitute power of the country so in order to make this a fully
powerful country, women empowerment is very

They were limited only for the household or understand

Options:
1) situation

2) Innovation
3) chores

4) construction
Correct Answer: chores
Candidate Answer: construction

QID : 386 - Following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

India is a very country known for its cultural heritage, traditions, civilization, religion and geographical features from the time. On the other hand, it
is also popular as a chauvinistic nation. Today, women in India are given first priority however it was not the same always. They were treated in the
family and society. They were limited only to the household or to fulfill the responsibilities of home and family members. They were kept totally unaware of
their rights and own development. People of India used to call this country as "Bharat-Mata" however never realized the true meaning of it. Bharat-Mata means a

of every Indian whom we have to and care for always. Women constitute power of the country so in order to make this a fully
powerful country, women empowerment is very

Bharat-Mata means a of every Indian whom
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Options:
1) father

2) daughter
3) sister

4) mother
Correct Answer: mother
Candidate Answer: mother

QID : 387 - Following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

India is a very country known for its cultural heritage, traditions, civilization, religion and geographical features from the time. On the other hand, it
is also popular as a chauvinistic nation. Today, women in India are given first priority however it was not the same always. They were treated in the
family and society. They were limited only to the household or to fulfill the responsibilities of home and family members. They were kept totally unaware of
their rights and own development. People of India used to call this country as "Bharat-Mata" however never realized the true meaning of it. Bharat-Mata means a

of every Indian whom we have to and care for always. Women constitute power of the country so in order to make this a fully
powerful country, women empowerment is very

we have to and care always.

Options:
1) save

2) kill
3) destroy

4) revive
Correct Answer: save
Candidate Answer: save

QID : 388 - Following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

India is a very country known for its cultural heritage, traditions, civilization, religion and geographical features from the time. On the other hand, it
is also popular as a chauvinistic nation. Today, women in India are given first priority however it was not the same always. They were treated in the
family and society. They were limited only to the household or to fulfill the responsibilities of home and family members. They were kept totally unaware of
their rights and own development. People of India used to call this country as "Bharat-Mata" however never realized the true meaning of it. Bharat-Mata means a

of every Indian whom we have to and care for always. Women constitute power of the country so in order to make this a fully
powerful country, women empowerment is very

Women constitute power of the country

Options:

1) half

2) no

3) none

4) nil

Correct Answer: half
Candidate Answer: half

QID : 389 - Following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

India is a very country known for its cultural heritage, traditions, civilization, religion and geographical features from the time. On the other hand, it
is also popular as a chauvinistic nation. Today, women in India are given first priority however it was not the same always. They were treated in the
family and society. They were limited only to the household or to fulfill the responsibilities of home and family members. They were kept totally unaware of

their rights and own development. People of India used to call this country as "Bharat-Mata" however never realized the true meaning of it. Bharat-Mata means a
of every Indian whom we have to and care for always. Women constitute power of the country so in order to make this a fully
powerful country, women empowerment is very

the country so in order to make this a fully

Options:
1) state

2) continent
3) country

4) city
Correct Answer: country
Candidate Answer: country
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QID : 390 - Following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

India is a very country known for its cultural heritage, traditions, civilization, religion and geographical features from the time. On the other hand, it
is also popular as a chauvinistic nation. Today, women in India are given first priority however it was not the same always. They were treated in the
family and society. They were limited only to the household or to fulfill the responsibilities of home and family members. They were kept totally unaware of
their rights and own development. People of India used to call this country as "Bharat-Mata" however never realized the true meaning of it. Bharat-Mata means a
of every Indian whom we have to and care for always. Women constitute power of the country so in order to make this a fully
powerful country, women empowerment is very

powerful country, women empowerment is very

Options:

1) rare

2) disturbing

3) limited

4) necessary

Correct Answer: necessary

Candidate Answer: limited

QID : 391 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Racism is something we've all . Many people to believe that race isn't a category, but an artificial classification of people with no
scientifically variable facts. In other words, the we make between races has nothing to do with genetic characteristics. Race was created , primarily
by how people ideas and faces we are not quite used to. The definition of race all depends on where and when the word is being used. In U.S. history, the
meaning of the label "white" has changed time, eventually adding groups like the Italians, Irish and Jews. Other groups, mainly African, Latino, American
Indian, Pacific Islander, and Asian descendants, have found the path for worldwide social much more . The irregular border of ethnicities touch
educational and economic opportunity, political representation, as well as income, health and social mobility of people of

Racism is something we've all

Options:
1) witnessed

2) through
3) realized

4) accepted
Correct Answer: witnessed
Candidate Answer: accepted

QID : 392 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Racism is something we've all . Many people to believe that race isn't a category, but an artificial classification of people with no
scientifically variable facts. In other words, the we make between races has nothing to do with genetic characteristics. Race was created , primarily
by how people ideas and faces we are not quite used to. The definition of race all depends on where and when the word is being used. In U.S. history, the
meaning of the label "white" has changed time, eventually adding groups like the Italians, Irish and Jews. Other groups, mainly African, Latino, American
Indian, Pacific Islander, and Asian descendants, have found the path for worldwide social much more . The irregular border of ethnicities touch
educational and economic opportunity, political representation, as well as income, health and social mobility of people of

Many people to believe that race isn't a

Options:

1) learn

2) fail

3) win

4) lose

Correct Answer: fail

Candidate Answer: fail

QID : 393 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Racism is something we've all . Many people to believe that race isn't a category, but an artificial classification of people with no
scientifically variable facts. In other words, the we make between races has nothing to do with genetic characteristics. Race was created , primarily
by how people ideas and faces we are not quite used to. The definition of race all depends on where and when the word is being used. In U.S. history, the
meaning of the label "white" has changed time, eventually adding groups like the Italians, Irish and Jews. Other groups, mainly African, Latino, American
Indian, Pacific Islander, and Asian descendants, have found the path for worldwide social much more . The irregular border of ethnicities touch
educational and economic opportunity, political representation, as well as income, health and social mobility of people of

thatraceisn’'ta category

Options:
1) scientifically

2) emotional
3) biological

4) practical
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Correct Answer: biological
Candidate Answer: practical

QID : 394 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Racism is something we've all . Many people to believe that race isn't a category, but an artificial classification of people with no
scientifically variable facts. In other words, the we make between races has nothing to do with genetic characteristics. Race was created , primarily
by how people ideas and faces we are not quite used to. The definition of race all depends on where and when the word is being used. In U.S. history, the
meaning of the label "white" has changed time, eventually adding groups like the Italians, Irish and Jews. Other groups, mainly African, Latino, American
Indian, Pacific Islander, and Asian descendants, have found the path for worldwide social much more . The irregular border of ethnicities touch
educational and economic opportunity, political representation, as well as income, health and social mobility of people of

the we make between races has nothing to do with

Options:
1) similarity

2) recognition
3) choices

4) distinction
Correct Answer: distinction
Candidate Answer: recognition

QID : 395 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Racism is something we've all . Many people to believe that race isn't a category, but an artificial classification of people with no
scientifically variable facts. In other words, the we make between races has nothing to do with genetic characteristics. Race was created , primarily
by how people ideas and faces we are not quite used to. The definition of race all depends on where and when the word is being used. In U.S. history, the
meaning of the label "white" has changed time, eventually adding groups like the Italians, Irish and Jews. Other groups, mainly African, Latino, American
Indian, Pacific Islander, and Asian descendants, have found the path for worldwide social much more . The irregular border of ethnicities touch
educational and economic opportunity, political representation, as well as income, health and social mobility of people of

Race was created , primarily

Options:
1) socially

2) economically
3) politically

4) Situationally
Correct Answer: socially
Candidate Answer: socially

QID : 396 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Racism is something we've all . Many people to believe that race isn't a category, but an artificial classification of people with no
scientifically variable facts. In other words, the we make between races has nothing to do with genetic characteristics. Race was created , primarily
by how people ideas and faces we are not quite used to. The definition of race all depends on where and when the word is being used. In U.S. history, the
meaning of the label "white" has changed time, eventually adding groups like the Italians, Irish and Jews. Other groups, mainly African, Latino, American
Indian, Pacific Islander, and Asian descendants, have found the path for worldwide social much more . The irregular border of ethnicities touch
educational and economic opportunity, political representation, as well as income, health and social mobility of people of

people ideas and faces we

Options:
1) believe

2) perceive
3) deceive

4) receive
Correct Answer: perceive
Candidate Answer: believe
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QID : 397 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Racism is something we've all . Many people to believe that race isn't a category, but an artificial classification of people with no
scientifically variable facts. In other words, the we make between races has nothing to do with genetic characteristics. Race was created , primarily
by how people ideas and faces we are not quite used to. The definition of race all depends on where and when the word is being used. In U.S. history, the
meaning of the label "white" has changed time, eventually adding groups like the Italians, Irish and Jews. Other groups, mainly African, Latino, American
Indian, Pacific Islander, and Asian descendants, have found the path for worldwide social much more . The irregular border of ethnicities touch
educational and economic opportunity, political representation, as well as income, health and social mobility of people of

changed time, eventually adding groups

Options:
1) on

2)in
3) over

4) of
Correct Answer: over
Candidate Answer: of

QID : 398 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Racism is something we've all . Many people to believe that race isn't a category, but an artificial classification of people with no
scientifically variable facts. In other words, the we make between races has nothing to do with genetic characteristics. Race was created , primarily
by how people ideas and faces we are not quite used to. The definition of race all depends on where and when the word is being used. In U.S. history, the
meaning of the label "white" has changed time, eventually adding groups like the Italians, Irish and Jews. Other groups, mainly African, Latino, American
Indian, Pacific Islander, and Asian descendants, have found the path for worldwide social much more . The irregular border of ethnicities touch
educational and economic opportunity, political representation, as well as income, health and social mobility of people of

found the path for worldwide social much

Options:
1) rejection

2) diversification
3) status

4) acceptance
Correct Answer: acceptance
Candidate Answer: diversification

QID : 399 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Racism is something we've all . Many people to believe that race isn't a category, but an artificial classification of people with no
scientifically variable facts. In other words, the we make between races has nothing to do with genetic characteristics. Race was created , primarily
by how people ideas and faces we are not quite used to. The definition of race all depends on where and when the word is being used. In U.S. history, the
meaning of the label "white" has changed time, eventually adding groups like the Italians, Irish and Jews. Other groups, mainly African, Latino, American
Indian, Pacific Islander, and Asian descendants, have found the path for worldwide social much more . The irregular border of ethnicities touch
educational and economic opportunity, political representation, as well as income, health and social mobility of people of

More . The irregular border of ethnicities touch

Options:

1) difficult

2) significant

3) insignificant

4) useless

Correct Answer: difficult

Candidate Answer: [ NOT ANSWERED ]

QID : 400 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Racism is something we've all . Many people to believe that race isn't a category, but an artificial classification of people with no
scientifically variable facts. In other words, the we make between races has nothing to do with genetic characteristics. Race was created , primarily
by how people ideas and faces we are not quite used to. The definition of race all depends on where and when the word is being used. In U.S. history, the
meaning of the label "white" has changed time, eventually adding groups like the Italians, Irish and Jews. Other groups, mainly African, Latino, American
Indian, Pacific Islander, and Asian descendants, have found the path for worldwide social much more . The irregular border of ethnicities touch
educational and economic opportunity, political representation, as well as income, health and social mobility of people of

health and social mobility of people of

http://thepracticetest.in/cs_steno_17/response_questions.php?t_id=MTMwOTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 51/52



Downloaded from www.qmaths.in
10/4/2017 Staff Selection Commision

Options:
1) gender

2) color
3) caste

4) creed
Correct Answer: color
Candidate Answer: gender

http://thepracticetest.in/cs_steno_17/response_questions.php?t_id=MTMwOTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 52/52





